S1

Estimating Angles

Estimate and then confirm by measuring the angles.
1) Compare and estimate which angle has the smaller measure.

Exact measure of /1 =

Exact measure of /2 =

1 AN 2 N
Was your estimation correct? [0 Yes [0 No
2) Compare and estimate which angle has the larger measure.
Exact measure of /5 =
Exact measure of £6 =
5 s 16 N
Was your estimation correct? [0 Yes [0 No
3) Compare and estimate which angle has the smaller measure.
Exact measure of £8 =
9
Exact measure of L9 = ¢
8

N

Was your estimation correct? [0 Yes [0 No

4) Compare and estimate which angle has the larger measure.

Exact measure of /3 =

Exact measure of £4 = ,\ 4

Was your estimation correct? [0 Yes [ No
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